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[Max. Marks : 70

Instructions : (1) Figures to the right side indicate full marks of that question.

(2) Use of simple calculator is allowed.
(3) Statistical tables will be given on request.

. (a) Give properties and uses of t distribution. 4

(b)

MD-102

OR

Explain the t-test for testing mean of a single sample. |
Two horses H, and H, were tested for running a particular track. The time (in

seconds) taken by them are given below : 6

Horse H, |32 |34 |36 |37 37 (33 |38

Horse H, 33 (34 [34 |28 |31 433

-

Can it be concluded that horse H, is faster than

OR
An IQ test was administered ta 6 persons before and after they were trained. The

results are given below :

Horse Hz-

Candidate I 2 | 3 4 5 6

IQ  before | 115 110 120 123 132 125
training .
IQ after |18 120 118 125 136 121
training

Test whether there is any change in [Q after the training programme.

Assample of 10 observations from a normal population gave the following results : 4
Zx, = 678, Vanance = 8.16.

Test the hypothesis that the mean of the population is 66.
OR

For two independent samples the following information is available. From this
information it can be concluded that both the samples are drawn from the one

normal population. State your assumptions,

Sample | Size Mean | Variance
1 0 |15 | 1225 |
L 15 | 16.5 |20.25

Test the hypothesis that population means are equal.
S P.T.O.



2. (a) Define chi-square statistic and give its uses.

(b) Fit a Poisson distribution and test the : goodness of fit.

(c)

OR

Explain test of independence of two attributes.

No. of Misprints | 0 1 (2 |3
No. of Pages 211 (90 |19 |3
OR

Inoculated

Not Inoculated

Explain Yate’s correction for a 2

A sample of size 10

as 5 and 6 respectively. Test the

1s 8.

OR

x 2 contingency table.

(42 =0.657)

from a normal popalation gave mean and standard deviation

Explain completely Randomised Design.
OR

Whatis variance ratio ? Explain the test based on it.

hypothesis that population standard deviation

(b) The following figures relate to the price of a commodity in four different cities,

MD-102

Test at 5% that there is no significant differences in the prices in t

City Price
AN 32 .’36 35]
B | 35 |34]34]3s|
C | 37 |36]35] 34
D T 35 | 323536 36
OR

he four cities.



Analyse the following Latin Square design,

__ Seeds
Fertilizers | S, S, ' S,
L 1 1 A2 B | C20
1l B48 | C50 | ASI
M | €22 | A2 [ BI5

A. B and C are three different types of pesticides.

4. (a) State difference between parametric and non-parametric tests. 4

OR
Explain Mann-Whitney U test.

(b) Consider the following observations 2, 6, 9, 7, 12, 20, 25, 30:5, 14, 17, 12, 16,
28,27, 7.18.4.22.16, 18. 21, 26. 1, 30, 3, 8, 13. Can we say that the population

median is 157 6
OR
Check the equality of means for the following two samples using non-parametric
test. ?
Sample 1[18 |21 |23 |15 |19 26Jj?1[13 22.[20 1821 [27
sample 2|22 [17 |15 [23 [25 |20 [26 24 {16 [17 [23 |21 |-
(¢) With reference to non-parametric test, explain Kolmogorow test. 4

OR

Carry out Kruskal — Wallis (H) test for the following data :

A |44 58 S5 00250629 49 40
B [50 90 33 31 41 48 -

C |48 70 S0 34 54 45 39

5.  Answer the following questions : 14
(1) State the probability density function of t distnbution.

(2" Define degree of freedom.

(3) . State two assumptions of chi-square test.
(4) " State twq assum

ptions of analysis of variance.
(S} Elpllm e
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Statistical Table Values :

1y at 5% level = 2,571
t, at 5% level = 2.447

t“ al 5% lﬂﬂl = 1.796

X, at 5% level = 3.84]

2
X, at 5% level = 5.99]

Fy 2t 5% level = 3.49

Flll at 5% level = 8.74

l t,, at 5% level = 1.796

1,y at 5% level = 2.069

| Ly at 5% level = 2.064

xi at 5% level = 16.919

.rlln at 5% level = 18.307
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